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Pilot WF

moix: 8/12

1. =40 st 32

SHo| £XN He

28 =4 =57

NS/ E2Y A2 (mg/ |BI (mg/ |EL (JtA) | EL (BI1) &L (HX
ka) ka) (opm) (mg/1) 2 0|AE)
(mg/l)
Pilot WF N/A N/A N/A N/A 312.5
3-iodo—2-propynyl butylcarbamate (IPBC) 500 N/A N/A N/A 0.5
4,5—-dichloro—2—octyl-2H-isothiazol-3-one 567 N/A N/A N/A 0.16
(DCOIT)
C(M)IT/MIT (3:1) 53 50 N/A 0.5 N/A
25 OlelMol2 500 790 N/A N/A 0.5
12. &30 0|X|l= 9%
ol MEIEA
=222 M M2 S0t I8z HE0| ASHE.
NS/ 82Y Z HES s
0l&tSt EIELS =4 LC50 3 mg/l &% 222 - Ceriodaphnia dubia |48 Al2t
— AAOL
=4 LCh0 6.5 mg/l &%= SH = - Daphnia pulex — &l |48 Al2t
MO}
=4 LC50 >1000000 pg/l ol %= £ 17| - Fundulus 96 Al2t
heteroclitus
3-iodo—2—-propyny! =4 EC50 0.022 mg/! XF(GE#E) - Scenedesmus 72 A2t
butylcarbamate (IPBC) subspicatus
=4 EC50 0.16 mg/! 22t2 — Daphnia magna 48 Al2t
=4 LC50 0.067 ma/l 21| = Oncorhynchus 96 Al2t
mykiss
9td NOEC 70 ppb &= 21| - Oncorhynchus 96 Al2t
mykiss — Juvenile (Fledgling,
Hatchling, Weanling)
4,5—dichloro—2—octyl-2H-| 24 EC50 0.0057 mg/I 222 - Daphnia magna 48 A2t
isothiazol-3—one (DCOIT)
=4 LC50 0.014 mg/l £ 1| - Lepomis 96 Al2t
macrochirus
=4 LC50 0.0027 mg/l £ 1| = Onchorhynchus 96 Al2t
mykiss
9t NOEC 0.00056 mg/I =yl 97
Z A 2el =4 LC50 9.5 ug/l &= 222 - Ceriodaphnia dubia |48 Al2t
=4 LC50 15 ug/l &= £ 17| - Pimephales 96 AlZ2t
promelas
CM)IT/MIT (3:1) =4 EC50 0.048 mg/I T2 - 72 A2t
Pseudokirchneriella
subcapitata
=4 EC50 0.0052 mg/I XFR(E#E) - Skeletonema 48 A2t
costatum
=4 EC50 0.1 mg/I £ S - Daphnia magna 48 Al 2t
=4 LC50 0.22 my/l 21 7] - Oncorhynchus 96 AlZ2t
mykiss
=4 NOEC 0.00064 mg/I X2 (3&%8) - Skeletonema 48 A2t
costatum
ot NOEC 0.0012 mg/I AF(CRHE) - 72 A2t
Pseudokirchneriella
subcapitata
ot NOEC 0.004 mg/I =W E - Daphnia magna 21 &
9t NOEC 0.098 mg/I 2 17| - Oncorhynchus 28 &
mykiss
L. &2 M 2 2olld
EHE YEYX 2 29.11.2023




Pilot WF

molx: 9/12

HE/LS2H 2= B2 220l M= 2ol4
Clolz g 222 HE |- - S
Ol =

3—-iodo—2-propynyl - - =
butylcarbamate (IPBC)

4,5-dichloro—2-octyl-2H-| - - 2
isothiazol-3—one (DCOIT)

CM)IT/MIT (3:1) - - =PNE=

Ch M2 ==4
HNE/4=2H LogPow BCF EHE ME 554
clol=2zd 222 HE |0.004 - E=
olel 2
CIMIT/MIT (3:1) - 3.16 C
A& Ilel Mol 0.00229 - C=
ch. EZ 0SS
E2/2 28 H2=(Koc) N8
OF. JIEl S0 g8 DOA2ESE FEHOILF RE S X H gl S,
13. HIJIAl =2 ALSt
Jb. HID|gHH D Jlsst Hole MAS TlotHLE 2IA2 & 24 0

ool e & Ol QR AEE EFLH=E R 0otL2HHE H2lE X 22
A2 22 6142 HIIZOAE oHE. AlZ2E IEZ2)|= WE=2 ZJ00F &
A2t EE=E HES HEE0| JIsoth S L2010 D 0ok &
LE. HIIIAI =2 AE DHE Y D ) otMet gHOZ HIJISI0F &, MEZIHU #RAXX L2
JIE FZE ER Tt 2RE. H )| L= 2ol ME &F20] 0 U2
2= A8, &= SAH0| 2AEHU S EY, =2, i~ L ot=2 E=otl= A
s og A
A i1 =
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